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1 kg =98 N
1 ft=0.3048 m
1 in = 2.54 cm
1 b= 0.453 kg
9.8 m/s” = 322 ft/s’

F=ma , IN (Newton) = 1kg - m/s
F=ma , 9.8N (Newton) = 9.8kg - m/s’
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p=F/A, 1Pa=1N/m?

Lbar = 10°Pa

latm = 760 mmHg = 101.3 kPa = 1.0332 kg;/cm® = 14.7 psi = 10332 mmAgq
B0 lat = lkg/em® = 735.6mmHg

(AU ) py, = (R7190)p, + (Ae1A)p,

1HP = 76kgm/s=745.TW = 550 1b ft/s
1PS = 75kgm/s=735.5W = 5421b ft/s
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1. FEAFEY 6ddY A HSEA: 1-6-3-2-5-4

2. 49 oddH e A 1-3-5-7-9-2-4-6-8

3. 49 29 1AddHY 33} £A(+9, -5): 1-10-5-14-9-4-13-8-3-12-7-2-11-6

4. A8 29 182 dH 2 M3} A (+11,-7): 1-12-5-16-9-2-13-6-17-10-3-14-7-18-11-4-15-8



